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1. Answer all 100 questions.
B (9)0% SHIEESH0e8 FPokoE.

2.  Each question carries one mark.
&E‘hﬁh @785 &8 Do),

3. Choose the correct answer from the four (4) answers given for each question and

shade the relevant circle in the OMR answer sheet with a Black ball point
pen.

2575, E55 30 ol (4) aTrmood’® HOGLD arese JnER IV OMR Sarees
BEH08" o703 BowoRols 38,56° $ud wrErancld By BEsu.

4. Do not write answers in the Question Booklet. Use the OMR answer sheet for

marking answers. Read the instructions given on the OMR answer sheet
carefully.

Ts (%) LH%008" T oo, e @oion OMR S5 S, seph
Fhoc. OMR S50 BEed® 3050 SPHbe BB HESSed.

5. For rough work, use space provided below in the page.
D8 B 50 B 308 FiHmds Potato GHAFACHIHD.

6. At the end of the examination, handover the answer sheet to the Hall
Superintendent without fail.

0K S0l Boesd waren V(@D HEE DUHKDIL 2O eionod.
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PART - I
GENERAL KNOWLEDGE AND APTITUDE TEST

1. India’s first Defence Satellite launched on August 2013 is ....

2013 estipé® rEBiEe HAPACID BFEY GBIRTO ceeeeens

(1) G.SAT-6
(2) G.SAT-3
(3) G.SAT -7
(4) G.SAT-5

2. Indian Standard Time is in advance of the Greenwich Mean Time exactly

(1) Seven hours

(2) Five hours

(3) Three and half hours
(4) Five and half hours

OB (PEreY oo (DS TPeRIse 5ol $a00kow) PHO0K0 veeenss
(1) 9Deéo Howen

(2) =80 Nowew

(3) SHarEsns Kowes

(4] 28555 Howe

3. The ‘Kaziranga National Park’ is located at .....
(1) dJabalpur
(2) dJorhat
(3) Rajkot
(4) Nainital

seltom sd B, 55,8 Hnd.
(1) e2bird

(2) £%S

(3) oSS

4) P
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NCTE is concerned with ...

(1) Cultural and Technical Education.

(2) Compulsory Education.
(3) Technical Education.
(4) Teacher Education.

IN.2.63.3. B2 Bowodosa.

(1) ooy Sodan Fcdas i
(2)  A5yee Jesg

(3) >rciox s

(4)  &drgrehd D&

Identify the correct statement -

(1) The teacher has to involve the students in his
(2) The teacher has to insist students to eat Mid-day meals only in the school.

Q. Booklet
Code

teaching.

(3) The teacher should give importance to gifted children.
(4) The teacher should avoid students who are not sincere.

BOGS TN Modotinibe.

(1) adrgrouiantss dovgpeso 83 §7%696° wrrdgses S5,

(2)  Soorgy Slamd) dovgoes Biyo BB EJRa0t> .08 Sourd.

(3)  ®OFHoBITY dDrtgess edraines BBEB gD,
(4) g B dorgtigess eSgraiot: HOTSATD.

CBSE stands for ...

(1) Co-operative Bureau of Scientific Education.
(2)  Cellular Branch of Scientific Entrepreneur.
(3) Central Board of Secondary Education.

(4) Cultural Board of School Education. |

2.0.000.5. 5 ..........

(1) aﬂsgcti: D HTE a6t

(2) E"%ﬁﬁ: Xpro Qc{p{?:ng TP
(3) Soba srggoy dov Sy
(4) SrE7ve T &c‘:f:b o eSfﬁg

[3]




An Ideal teacher is one who ....

(1)
(2)
(3)
(4)

(1)
(2)
(3)

(4)

The winner of 2014 Miss India World is ....

(1)
(2)
(3)
(4)

reads continuously.

inspires and initiates the students.

teaches students regularly.
attends the needs of students.

DOoBbo vloRBootIre.
Detigein &Bestd (0B,
500 BE0E DTG0 SQPNE.

DTPER0 HHTOR M.

Gail Da’ Silva
Sobhita Dhulipala
Jhataleka Malhotra
Koyal Rana

2014 2D 50EAT HBE BB ..veeee-.

(1)
(2)
(3)

(4)

Roxd & bov
DT BFOFT
2555 S8

8'a0d oo

(4]
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9.

10.
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Code

The Jayapur village which was adopted by the Prime Minister Narendra
Modi belongs to this State.

(1)
(2)
(3)
(4)

Gujarat
Rajasthan

Uttar Pradesh
Madhya Pradesh

B Bo0[@ FOoESAPE &85 Sidokswy) ‘ciiyd’ oo B+ oVges™B.

(1)
(2)
(3)
(4)

RS
25
]
Bosg 08

The State that banned mining within 1 km (one kilometre) of National
Parks and Sanctuaries ....

(1)

(2)

(3)
(4)

2O B0, LPATTERODH 28 36506t 9006 M BB VDo TR0

(1)
(2)
(3)
(4)

Kerala

Goa
Assam

West Bengal

Lo

(5]
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11.

12,

13.

14.

15.
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PART - II (A)
GENERAL ENGLISH

We must ........ administrative expenses.

Choose the appropriate phrasal verb to fill in the blank.
(1) cutin (2) cut off

(3) cut down (4) cut out

India is the greatest democracy in the world.

The positive degree of the above sentence is ....

(1) In the world, there is no democracy other than India.
(2) No democracy is larger than India in the world.

(3) India is larger than any other democracy in the world.
(4) No other democracy in the world is as large as India.

People say “The chess master Anandan has lost his memory.”
The passive form of the above sentence is ....

(1) People told that the memory had been lost by chess master Anandan.

(2) It is said that the chess master Anandan has lost his memory.
(3) People said, the chess master Anandan had lost his memory.
(4) It was told that chess master Anandan has lost his memory.

It is certain that he will succeed and nobody can deny that he will secure

good marks.

The underlined part of the sentence is ....... clause.

(1) a principal (2) anoun

(3) an adjective - (4) a co-ordinate

The following sentence is divided into four parts and labelled as ‘a, b, c and d’.

Choose the part of the sentence that has an error.
Bangladesh has come / into / existence / thirty-six years ago.
a b c d

(1) e (2) d
3) a (4) b

[6]




16.

17.

18.

19.

20.

Q. Booklet

Code
You and I played well, ........... ? |
Choose the appropriate question tag to complete the sentence.
(1) didn’t we (2) don’t we
(3) didn’tI (4) didn’t you
“We have to test these products”.

Choose the sentence that has the similar meaning to the above sentence.
(1) These products have to be tested.

(2) These products should be tested by us.

(3) Tested products should be bought.

(4) We should test the products.

‘Do you really come from China ?’ said the Prince.

The indirect speech for the above sentence is ....

(1) 1 was asked if I really came from China.

(2) The Prince asked whether I really eame from China.
(3) The Prince asked me if I really came from China.

(4) I was asked by the Prince whether I came from China.

Krishna 1s an amateur artist.

Select the word which is opposite of the underlined word.
(1) trainer (2) under training
(3) clumsy (4) professional

The first and last part of the sentence is numbered as 1 and 6. The rest is

jumbled and are named as P Q, R and S.
Identify the correct order of the sentence.

[1] There are people

[P] to be able to say

[Q] not because they enjoy the book

[R] who read a book

[S] but because they want

[6] that they have read it.

(1) RQSP (2) RSPQ
(3) PSQR (4) SQPR

7]
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PART II (B)
GENERAL TELUGU

. BT TN YT, YBov LPRTRO, LB, BRWOFHO, PPl Dowoo, oL,

3WG3o08 Hoed 2B oy > HYoWD OGO erveeeene
(1) Soddersdo
(2) rsd®

(3) =H3 orsrakee
(4) esols SoFeritddo

. OIS ety 3oEHETe), Dol BISIERPeD HENP GOt BEGO -cvvesens.
(1) Dehd

(2) B

(3) esedod

(4) BHo

. SO, DhTowne Enrtn, SOPSETRS, HEEH0N FPolD EINBOIED v
(1) @rgato

(2) OFHoTrediarastss

(3) word G

(4) Dod SRop

. e300 DTBLETD 28 vrreerrans

(1)  Faras Tvgas

(2)  HOR DoboKw FG HOSHED
(3) - &R’ TG

(4) Joeedsodss

. H0D FEETR TR FBEO wurveseens
(1) e so%o

(2) B3E%x Taogy BB¥o

(3) =43 %58%o

(4) Dewi'dro 5650

[8]



26.

217.

28.

29.

30.

CSEP L5007 ek BHTH HOWDE DETTES ceveeeens

(1)
(2)
(3)
(4)

D00l Bl T i) Beols S50

(1)
(2)
(3)
(4)

LG, NEK0, AEBBdN’ B STE B

(1)
(2)
(3)
(4)

25 58 8% 208 JIJoDs ¥ (oForr Ty, wb o5

(1)
(2)
(3)
4)

‘g, 6, 20’ O SHHTIN VUNLL DEWSYES IFOTT B

(1)
(2)
(3)
(4)

g wown Jene
% D ToS0
B 5% ove
Y oo oo

Pobvosnn
TIHCSH0
Treiaps BOE
OO WOB

EOBEEHB Bod
KIESTOF H0d
Nz 2od
BB Bod

E'.-Etwaf‘&_gﬁ

OBBND

G338

22500B

uﬁ:mga:
Boren

;ﬁqjc‘.ﬁgﬂu
R(ESDTF
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31, [H00 Botersd el ‘Ecs;oés ﬁa&ﬁ:ﬁﬁ Oola) WeneaioBO ;5::530 - &3 D0 Mo Lo,
(1) I=ednder - BESrFaTg0
(2) =TEST B - DBTFSO
(3) Stole @imRBnme - BB
(4) IS [Rrodd - B OVATTo

82. JUETRHEE AEFED SNo Bed B0 &5 BV ey ITEeE’ ¥ &5SID, B B BEEreo
HTE SHPRODD BOOTEP (FOBY) DTP®EY wrerereses
(1) Soroorord
(2) =62 oo
(3) ool CPRLE)RO%s
(4) 3.9. CPoTToeD

33. fordé%ac (idows Grow, Rtss Bocbe B e’
@) Qod DeBoeoR) S%0 ~ &3 S TWONT wieerins
(1) 285 Hovesssos — e, 83 Msod
(2) BolorTey; WOBHL - FPe,08 Fon
(3) GorTrg TwIAieso - A eTT0G
(4) DB FTS0 - P08 Fsod

34. 2 e, T KRR, DB’ ey DESHLL Pod Bewld VDT O FUH GPEGed BeF
POBD TS it erstens
(1)  KB3T0 et 58,
(2)  JBaolioed HBHOITE T
(3) oHER Sormrordoed

(4) NHoodore TPe0G

35. “Us DoPoren Tl SR e, e E“Eﬁﬂﬁs@ BOOTOEO verrerenes
1) eosars
(2) Drd
(3) &3

(4) &Fa%s
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36. BoRoen Yo 690 B (Rrodvey HiTHe g0k ok DESS HEOOBER wreeees
(1) DoFoXKBEw eoerbo.
(2) [oFopdnm wowrds.
(3) JrGostH weerds.
(4)/ H050RaSH wotrss.

37. &0’ Gol Doesd Do AIFHED 088 BES wernenen.
(1) Sorestdenio
(2)r DodmEnm
(3) HodKed
(4) SHeoXwd

38. SO0, &0, FHODHO! &> TTTONI BIN waevereens
(1) o
(2)  Josaw
(3)  grasiu
(@) P{dw

39. ‘womdo, Wy, Stoie, Moo, w0, K980’ e TR O BP wrerrenes
(1) Demosw
(2) Sfeso
(3)  HFBus
(4) SrBH

40. ‘wolito¥ey’ ey BIwXH &S8O cvuurinne
(1)  woifth Bodoien
(2) 5cobiens
(3) Kdyoren
(4) eotideloNen

(11]
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PART - II1 (A)
MATHEMATICS
41. If simplified form of J_—+-.-"J__+j;.8 a8 8 i EL%@:
2
then value of K;-K,is...
V3447 K, +21

508’ vy K- K, deon ..........

T3 28 a8 AT =i
€)
2)
(3)
(4)

o W =3

42. Which of the following is not a factor of (p — q)® + (g - r)® + (- p)?
Bed T 00 (p-q) + (-1 + (r—p)® % 6023 289

(1) r-p
(2) p+g+r

3) p-q
4 q-r

(Space for Rough Work)
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x 2x
43. If [E) [E) A A9 , then value of x® valueis ....

5) \6) 216
x 2x
{E) [E) L .
5 6 216
(1) 125
216
(2) 125
125
(3) 916
4) 27
44. A In the adjacent figure, OA = OB = 21 cm and
ZAOB = 120° with ‘O’ as centre of the circle,
¥ X then area of the segment AYB (in square units) is ....
©%, %0&' ZAOB = 120° 5:8a%0 OA = OB = 21 e.2.
5 ZAOB = 120°. ‘0’ Fosom e Sys0é® syspotio AYB povep.
® 2 (88-2143)
@ =2 (88 +2143)

21
@ - (88-2148)

21
@ - (88+2143)

(Space for Rough Work)
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45. Value of sin?83° + sin® 7° is ......
sin? 83° + sin? 7° De0H cereresens
(1) 0 (2) -1
3 1 (4) 2

46. Ifslope of line through P(2, 5) and Q(x, 3) is 2, then valueof x is .....

P(2, 5) %8050 Q(x, 3) o Koot Fo Op oo, TFe0 2 ©00 X DB uwieenes
(1) 3 2 4
3) 1 (4) 2

47. The system of equations
2x+3y=1,
x-y=1
(1) hasunique solution.

(2) data insufficient to determine number of solutions.
(3) has no solution.

(4) has infinite solutions.

2x+3y=1,

Sx—y =T BABBED VIR wreseseres

(1) B8 3D Yebd.

(2) 7y SHPTEeE Fyve Hopgw AgboTe.
(8) s B

(4) esHo® Joen &GO,

(Space for Rough Work)
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49.

50.
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Two circles intersect at A, B. PS, PT are two tangents drawn from P, which
lies on AB to the two circles, then ....

Bot PTew A, B 08 podotsivoruanon $00cy AB 6 & P Dotisy ool
o A0 Hdees PS, PT ©owsd ...

(1) PS=PT

(2) PS #PT

(3) PS=2PT

4) PT=2PS

The first and the last terms of an Arithmetic Progression are 17 and 350

respectively. If the common difference is ‘9’, then sum of all terms of that
Arithmetic Progression is ....

2. eooNRAE Do, DN0 Bores HESHT 17 $508cn 350 So8akhe HorcBto 9 e

(1) 6773 (2) 6667
(3) 6973 (4) 6873

If Kx (x —2) + 6 = 0 has equal roots, then value of K is ......

Kx (x - 2) + 6 = 0 GBoo), Sarotwns S8rdem éod, K Jesd ..........

(1) 7 (2) 6
3 3 (4) -6
(Space for Rough Work)
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Class 1-3 3-5 5-17 7-9 9-11
Frequency i 8 2 2 1
The mode of given distribution is ....
S8 TFHPIe Bk, WITVTES weveeerens
HENS 1-3 3-5 5-17 7T-9 9-11
FISBOSIG) 7 8 2 2 1
(1) 3.386 (2) 3.786
(3) 3.286 (4) 5.286

Code

Which of the following is an example illustrating distributive property ?

QP OB ETHTEND VOO waaerreees
(1) (Bx4)x5=3x(4x5)
(2) (-168) + (168) =0

() 3x4=4x3
(4) 3x(4+5)=3%x4+3%5

J16129 value is increased by 23 and divided by 15, then decreased by 10; what is

the resulting number ?

JI6129 3o 23 oD $065000 158 zPRod HOw Bops wood 10850 Sudckm 513

-n:l':E:lE ..........

(1 2 (2) 3

3 1 4) 0
(Space for Rough Work)
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